ER23EE BRI TREEFHEKRE 9A10H
B & X & — i =
R oy, EE B A = ﬁ'pﬁ £
1 B EHE R K S EER2E
10 261 REDHER g RS EER2E
44kgik
10 L TERGTH  RERFREFEEHEF
iva
3 WE =7 BARESEFERIE
3 2B g IK3E SRS EFERIE
10 24 =k BR3E SFURKZPE
48kgih
16 3t fEA IR, BB EER2E
iva
5 =% = BHEHFFRIE
9 1B HEARB B EBEBBARFEEHFFRIE
10 2ff BR X EIAEESEERIE
52kgik
14 Bt WOEE REEREEFFRIF
iva
1 =l #hE INAKRDSFERSE
1 EZB WX & HEFEREESEER2E
10 21 FEH #% LB RR K14
57kgfk
7 31_‘_ HEE&/J“&”D jLJl‘IE *m*JU(%ZE
iva
5 BR =i BB KFIE
14 8% Re ER RKESEFER2E
7 2f1 ER B EHERFEEEFERIE
55kgik
6 s BA OER BB ESHERIE
2
16 BHR BF EEFEBSEIRE
1 B B BEEFE TsAEMBERESZERE
14 24 RE EE ELTEEHEFRE
60kgik
10 3t HE K& BAKEIE
2
12 i KER BEERABEXREIE
11 B Bl BREBRESEFFRIE
5 21 Bt BEifE FHESEFRIE
66kgifk
14 3t HEE i IERl =3 F-=2
2
1 IR EFA R ER E L8 KRF24E
1 B KB FE KEAR2E
14 24 A EE HEZEEEFR2E
73kgik
10 3t TH % KIEBRZ14E
2
5 HE BE BB AZ2E




ER23FEE £BAXRVIZTREEFEKRSE 9A118
= a B & — =3 %
R oy, EE B A = ﬁ'pﬁ £
10 2B | EHFEHF S EEEA S FERIFE
1 24 ANH BE WEREIE
63gfk o .
14 3t B85 K BERSFFRIF
va
7 2K o BRARFEERFEIE
14 BB KRN FA SEEASEERE
5 2fI oE ® A EEERIE
70kg#k
7 3 H TE RESHEFRK
v
1 WEHAEF HEBKFEIE
10 2R BARK EE flEx P RS FEFR2E
1 2f1 B FE BRARFEERFEIE
78kgik
14 Bt EH & AR IESEFRE
v
7 TEF FRE PR H P IR3E
1 ZB HE ZBE LB R KE14E JOCY 1274 E v hy7’
18 2{1 R = IR
—— i FEFx REMEEERIE
B, R RE NFHRESEHIE
va
15 BAR KX HEEEERE
7 BB il B KIEBRZ14E
10 241 Ki# B ERBEBAKREEEERIE
81kgik
14 S EE BEA HBRKFEIE
YR
1 2l BARKERPEIE
1 BB e R# BEESEPRIE
12 25 KET [EiE RKEASEERE
90kgih
14 3t HIE #% ELTEEEERIE
iva
7 s 44 B2 KF1E
1 B XiB e ETEEKFIE
10 2f1 BH KiE HBEKRFEIE
100kgiR
4 s AN #BE =K EHEFIRIE
2
18 A s W FEEEER2E
1 B EFARIE EEASAE JOCY 127 A YL E v Ihy T
10 24 g
S v =k = E+fESHFFERIE
14y b BB E+EAFIE
2
5 fRE #Eh SIS HPIRSE




